MiniPurge FMEIEETT MIU/) (ER3F-

P

ML303

{E{q;;‘%ﬁ New Taipei City 242, Taiwan R.O.C.
v

AHZEIE]

10. ExXEREH

Héx
L BER PUEALHE S L P
2. —EE Py
3. 2psE JD Ausplce Co.,Ltd.

apy service @ jdauspice.com
4. S\EHE 7 2(Tel )+886(02)89912796
5. g i % (Fax)+886(02)89919298

WORRA R 3P ¢ ER - ROSSESH

6' ﬁ%ﬁﬂ% add: 3F., No.288, Sec. 2, Zhonggua Rd., Xinzhuang Dist.,
7.
8.
9.

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com



1 MR

RSB RSB HINEEE ~ mERNEER -
a2 H A E DR T ~ ERDUEIFHE I RITERN -

2 —fEER

FEFEE %

* MiniPurge /THIFIT (MIU) EEERES > AR IERSE MRIESHE) fUEkaithEr (TR
e - ZREU EERYIREE) HHA -

* MIU sE5IEN Gl B A — S & ( Zone 1, 2) BYRIREM / &G _+—
EELEE — & (Zone 21, 22) HYEEIBES ; JREk—4R 5 —4 7 EEEE — 4348 (Class 1, Divi
sion 1, 2) AYELETEEEEM] / BC 4R —43HHEEE — 4308 (Class 11, Division 1, 2) Y EE
IREE o

* MiniPurge 7MHEIEETT ] AR LSOk BEF AV G kit B - (HEA—L MIU AYHHRE
B 0 A ANELeEENERS 0 DR HAM S FERIE BN KINEE » Al REE E R HER
FEERTE BRI o BB S AT BT HVEE A » DIEREEE A E M -

* WEFTERNGE | SRIESHVRF & > ZENIREILSHRT SN BB
RIS AR ESEF AR E R - HA MG et B2 AL i e i 2 EMI A B > A 88
T AR ZAEE -

* MIU FZ (A ERYEZE i AR TE ] - IEERfERRAEE MRS (W - ER) WISATEERS » 1B
N BRI TEG I > DUE e B IE I E RS EHE R S G E - AR ERE
PIEHI A EEFEYE (COSHH) &ERFRSFRMEREIZ A E -

* MiniPurge /MHEIBETCHVSER S A LU TER - IR FEERE S Ao SRR EE N B
WIYE - sEs5s EXPO DL T s 5= -

N i

¢l

$ (Bx d / Xp WINEEHE <1 %)
TERHIEEE (O, AVER)

© AR I RAVEREDRIE R OE R GRIE DU EBIROE NI FHATEET » 412R
T AL G B AT GBS THIIE— e TSR R OE T SR E AR Z Al Seisl) EXPO -

ST

* MIU #J EXPO ZSUEH B2 ERRIS RS NETEET o S H5 G RE—E 2808
A E SRRt MIU DERVEReE - OISR TR / RoAEEL  BEENaR - WiEIRUIRE

HBES -
o FTERILEZEERYIK | DHRINE - E T RSN R BRI ER G R
@ -

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com



o M MIU ERNIIATEE AR @IFFMERN - A2 RIAEEE ) - STHEREIMNE R > 2
FEHLUTIRS -
o IEHZNTHR/INER] ;
m M20 B¢ 4" NPT ZEZE 35 mm (1.38")
s M25 2 %" NPT FEZE 40 mm (1.58")
O IFHAMERENEEFINERE CEHTRIEENIRES) B—5 B/t e e
{THRGCE B THRE 22U & -
* BfraEE (NEC) BEAESEMNGEELEERSGME - WAMEH NPT IHH -
* B4 IEC / ATEX @ AJEZEEERAHIEE NPT TEHH - ¥R DUFEMEERIMNE SRR N
PT FIAHIEE -
e EXERY MIU ©&F NPT IHEH -
o SNEREFERANEZ SR b2 2R R AR MIU THEERY MIU ARA T L - 5
SRR (ER RIS T BEERE - WNFESFANERN - SRR My = 8 E, -

MIU WEREZSIEE 3 A -

MIU/dA AMU-9AA1-510
B eS 4 PNO / 20 A / 440 Vac*
LEHRBAR SPCO 3 A / 250 Vac

WAHBZEAHEH 110 Vac 4T E T

AMU-9AA1-511

RS ¢ 4 PNO / 20 A / 440 Vac*
EHRGARE SPCO 3 A / 250 Vac*

WAHBZEAHE 230 Vac 4R H#EfT B

AMU-9AA1-518

EEMEEES 4 PNO / 20 A / 440 Vac*
LR - SPCO 3 A / 250 Vac*
WATFZEAE 24 Vac ST BB
MIU/X AMU-AAAL-610
R P as - 4 PNO / 20 A / 440 Vac*
B 4 PNO / 5 A /250 Vac*
LR - SPCO 3 A /250 Vac*
110 / 230 Vac e EA{L]E
MIU/IT AMU-BAA1-610
R P as - 4 PNO / 35 A / 600 Vac*
B 4 PNO / 5 A /250 Vac*
LR - SPCO 3 A /250 Vac*

110 / 230 Vac EEEEFEAHLIE

*[EC #HEMEN AR - T EE UL F CSA AVEHEESFMER - sh2RHEE -

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com



3

* MiniPurge JMHETTESZEEGRE / o8utE: - MIU BEER NP ER - 5F0E
& BON / SEEE IS ST FUTTETA A AT

IEC / i R N AT 1IC
B B+ |

e WETIESN — B AIERIE 5y | BTN B C A D
" ESER B~ F A1 G
B TR
RR

*  MiniPurge 7MHEIEETCIERZ BARBAHBIMEAE (40 1 EN 60079-14 ~ NEC 500 ¢ NEC 505) A1 /
BATAT AR E A AR E A A T2 8E -
* fikMd ATEX / IEC AY#R# - APHBEK R AEEEfy
m  FLHPEERT IC £/ 40 mm (A" -
s FUHPEERT 1B 270 30 mm (1 11/64")
m  UHPERT TA 2D 10 mm (17/64")
o ERERH - BE TV HAMEETE A EEESEEE R el AN EENEAER
jgﬂ%ﬁeﬂﬁﬁ%%ﬁ@%ﬁﬁﬁ%% > EN 60079-14 B &A1 B2 4 HEE B IE i SR
HH o
*  MiniPurge 71 THEEITTHEA MiniPurge WRIEFINNER 247 (5 A%
JEAR AR T AR B A T2 -
*  MiniPurge /MHEETTAVINE R ERE FREZE D 4 mm’ / 12
1) AWG ST -
o EEMFEHAER 6 mm / W HIHTERRAMEEN 1/8" NPT ##
UH CGRBEMT) #ikidfE MIU fil MiniPurge Z4% -
5 BE | e ([ B T S AR RS > 520 TR -
TEEINEH ) -
* NPT 4y$#E&E 415 H B MiniPurge 71 A B TAVEAERCHE o
. ?’/;E MIU/AA = > EFFH e B HRE) (aA) (FHzsiE
* fF MIUMX - 115 V 5 230 V EJFEELES HEF N I
TR 115 B8 230 U FHyyMER R -

e {F MIUMT = - 115V =k 230 1 MIUGA 7%
V ERELES BN R S LR N Ui I HEAE

BRSSP B R E AU -
©  ASEATMEEEE T - RTINSO ERE] -
sk | BEHEER ) DHGEINE -

2 MIU/A

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com



4  EE

© MIU ZEE5ERE  FEBRIA(E 2 Al fERZ So e & SR ST 20 ~ B8 - BEMORI(E T ELA A R (40
SRETERE) A IR -

* EBREETHIRSGRIA A E R J"“%E’J/F'ﬁ HhE (FEHT) -

© A THEEMEZE - I HIEEES THER

© WIREAEEkE R TEEE *E%%KHY *B’J?Eﬁﬁ?aﬁm Dl e ae A A0 - e
561 & 5 FRBRAERARY T BT AT BRRUET AT - I HAESTRRE

MIU #HC MiniPurge 1EHI% 4875 HETEE

B MIU 5UEEFESE AR IEEEEAT IR NS MiniPurge %% ©
WFE MiniPurge RS ERIERIGEEBTEREH > 552200 MiniPurge FEMTHYE R FM - DL AVER
B DAfsE AR fEE MiniPurge FAyf3] o
o AIDMERLUTHITEEESR /| SInEEREERHYEE -
. gfﬂﬁfu FARANF - A IRl C U r 2 REZEFEEY - M C ImAl P Umr 2 Al
I
. Fé%JEﬁ% F”ﬂ IN% BRI ZE AL IE - B S hedakdR - 1 H. MiniPurge EAVELINEEFE R
R ] FZIJIEJ BESELE T AR o BRE C IR P im 2 RNERZ B S ﬁ‘ﬁ MI
U 1y C Uﬁﬁ?*ﬂ A Ui 2 e R M o
o HDUEA DUy A RS E R DA B R E
*  ZERGLERARAN: » EIRUIMAREEAYEE RS E BENES - OISR IRMLIE » B R BRI
AVEE T A BEfZEHIBARE] (MIU/AX A1 MIU/AT EE5T) »
o RHEASNEFT o AR FHENZE RALIE - iEHF [ﬁ%ﬁfﬁm;ﬁ%‘ﬁﬁﬁ‘*
s BEIIR{EIRAE % 0 EIFVRMEELEL €@ Eg o i80% MiniPuree 1 MIU 2~ [EIRA 20 R EN#EE
SHER S IIER
. Eﬁﬁi@ﬂ%@ﬁf\}ﬁ‘
° EBEHIMEERIELR  EE AR - MERLINRIEZ EINEE » VR ERESS R - I H =R
@?féa MBS o FKFEE MiniPurge HYZERMALIERARA - %PV iE 2 1INt FHIRAR R » NEFE
O  MiniPurge ERVENNEEfERIEEZ G1E rZﬁ’“Jﬁ:J ﬁ%& A,
O  EEJFMEELIE TS B ﬁﬁﬁtﬂéﬁ’}’l\ RN ER
o }LZLEH A TsTFl C g gz BA S ff’é ffﬁ C WTf1 P U F 2 R A2
o Dl Emi#tEEE MmlPurge ZIREE By T BB (V1B Ik T RAE
* WREENEECSIEFEGE R > 5EFRUEE MiniPurge Z25AMLE -

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com



5 48

Eé(é;@ REEERIBIISORTE - fE 6 ALK / NERE 2 FEulEET NapifTi
© WREINGE - HERESRENEENEN - BEE O AR ZIEIS -

TR BRI E T HERBENEN - BET A LAEER RIS -

PR T AR RAVER T SN - MIU 28GRI A B (R BT THEBRYE: -

AL THRIR TAE I DAY S 4RV IEREZEAF -

fe Bz AR E (IR AL S AE Al 2 #lE -

HHERE 2R 40 RECIRERYIELY -

TERE Se R A I A 5, - MRS SRS S E By 7R oK -

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com



6 HIEHEER

WUBETHIERE - F25 N RUFREATTE -
[ AR T
B | CINEREESCAEE o | o fa#& MiniPurge (WREMEEESAMEA / [HEENH

~
Y o

© REELUTN A e A A B A A

* JEhd MIU Al ERYERGE (E B ey 22 SR 88 > 280% T45/N
RIFEBRIRGREE 1B T BB P RIS 3E -

© BRTEZEAVENEREZ GET] MIU PRIBARE > I HEZ
REE AR A N A R 2 F R RH Y SR Eh -

FERGARAMRL A RS - (MIU/ | o Pefles 2 RENEm (E B2 ERAET THE - PElEs

dA EJT) B MR A i B R A A T A T

ERVIA R AR MIUA |« FER@ERAREE MIU

Xl MIUAT E7T) - © IKER EalE / IR HEUT A A e A SR B
iB{FEhEHELE -

©  MERPEEEHVER BT o LR
© feE MIU BY0RIRER - GESRIEERSIE DL T ORIz EARHY
BUEME -)

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com



T HEHRE
SRR BT - SRR BT YE -

HHE B

dA #J

PHEES (110 Vac 48F&) 4 PNO / 20 A / 440 Vac ECT-T000-064
PHEES (230 Vac 4308 4 PNO / 20 A / 440 Vac ECT-T000-063
dx Al

PEEER (24 Vac 42FE) 4 PNO / 20 A / 440 Vac ECT-T000-065
HEEESR 4 PNO / 5 A / 250 Vac ECT-T000-025
PRIEa74EE > 250 mA EFH-0400-001
dT #J

PHEES (24 Vac 43F&) 4 PNO / 35 A / 600 Vac ECT-T000-024
HEEESE 4 PNO / 5 A / 250 Vac ECT-T000-025
k%% 0 630 mA EFU-C006-301
EYNEH

HEEHEE s (AP dA FIRST 1 #Y MiniPurge » 55HESL KMP-2600-000
STHERY MIU BZESMYZEEEFL E R F

THVEHS PCB 10 g /MEdt S0130/001
dA E AT B AGM-GMO00-016
dX F1 dT AR TF-Ehddi - AGM-GMO00-049
BFEEZE UL MO/UL
B FE#EE ATEX » IEC MO(BOX) 5 MO(PM)
1 MiniPurge ##ZE MIU AVERHFE - U KMP-3MIU-S00
4 x 1/8" NPT & 6mm OD » R L
REESHER 6mm OD > £ 1 m (39") HTS-0601-500
FHGE > 10" NPT » &= fii#4 '8 > Sira 00ATEX1073U TTP-4400-0B0

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com



8 B/E
EE T EERIPRFIRIGRT: > F2REATMERAVENES

Sira 02ATEX1129 0518 @ I2GD
Tamb -20'C +40°C Ex d IIC T6
Ex tD A21 IP6X T80C
Tamb -20C +55°C Ex d IIC T5

Ex tD A21 IP6X T95C

IECEx SIR07.0008 Tamb -20°C +40°C Ex d IIC T6
Ex tD A21 IP6X T80C
Tamb -20°C +55°C Ex d IIC T5

Ex tD A21 IP6X T95C

TUV 12.1464 Tamb -20°C +40°C Ex d 1IC T6
Tamb -20'C +55°C Ex d IIC TS

NOIV.E203605* #1 FTRX.E181300*
*EEEEEEAN MIUA EEEFARVEIR G sR(FEEs - H EAY UL fEEE AR SR AR -

0 HEBNSEE
in 2B TRV REE -

T LA [E SR
MiniPurge 77T BT EE XBR-MTD0-001
dA ARNFEFEY MIU AMU-9AA1-510
dX ARy MIU AMU-AAA1-610
dT #NEEHy MIU AMU-BAA1-610
@Rt U R T E e T AGM-GM00-016
MP & MIU R~F 1 EFEEENF A HAH) KMP-2600-000

Cat 5 UTP #dp&f#ua
® Expo FRER FPEORIRALIEEEFAY AutoCAD.dwg

TEZEEIE - EEEREIA H Y B2 TRERAIE
FLAER Exop fRAESRREEREINEAY GA -

3 CHETB)E Y MIUMA

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com



10 EXEHBEER
DUFSLER0I 2 BB MIU/ P B AR SE E SR L AE e -

AH 2 B 52 S

;Tl*"

JD Auspice Co., Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com




L =20 L  ONL33HS e “mms_oE:o_ ON 8O Q3113 143) snuvis onmvua f gun [viawg
—OOIOD._.ZIN._mx gPdr Ovd ovd ‘d3AQ0YddY
‘ON ONIMYHA 0 NOLLVTIVLSNI 1INN 3)V343INI uumDn__z_w‘#; el 0l/8/L |50/T1/S1| S0/0/9t :31va | OVd | axHO
¥E0G 601 NMYY0 ‘ON "QOn
SIN s o NOGONMAIINN DU wm_mO_OCEOO._- OQKN S— c Z ] =noor| OVd | Qddv
o TP o "a3AI0AY 34V NIN AILINNOW 3aIS
P | ¥ 40 30V4 dOL IHL NO STININT 379V LVYHL SONIFAWNWO0OIY OdX3 '€
JYNSOTONT AIZIUNSSIId — | _ “H3INNVA SNOQUVZVH
g ; " ¥ NI 3¥NSOTONT IHL ANNOYY VIV IHL OLNI 3ANYLOYd
- L - I LON TTIM S379VO ANV SANVT1O FUNSNI 319ISSOd IHIHM T
— . , — ‘lavy N9 S319V0 ANV SANY1O 319v0 04 I0VdS MOTIV 'L
o o S3ION
O
JONVAQY
NI AQOd ONIAHILYID
—— dﬁwﬂwwﬁwﬁ,ﬁmww%_ Ry (OMVY 11) z Wy ANWININ 319V0 HLYVT .
: : N 9N WNWINIW aNLS HLYVY3
- 3YNSOTONI JAISNI S _,
e _ 1INN 30V4H3LINI 3DANININ \
UNSOTONT g g y | 4ONOILISOd aFuI3d ,,
40 ¥Y3H NO G3LNNOW _ o 2 / /
ATIVNYILX3 38 OSTV AVA NINL | : m e ,
"SNOILISOd FAILYNYILTY | L m / ) e 3
\ / G P S
N w \ e s
I : / ST T
_le,‘l T \n_ﬂ \.\‘\\\
I ” , = @ g
4
|
| : @
11
A e o | { NN wwoy
o v _ e (Aaog s133n
: \ b an3yanmwm
e} o| — €41ON3T3S LIX3 HLVdIAVY1S
7] -¥VY310 1d3IA
_ T o, o ; _ 349 1SN
\_ 2 : ! o — VANV SIHL
A [ ! I (ﬁu |
29UNdININHO /! 5 F ,ﬁ ! [ <o
NOILISOd TVOIdAL N * - - i |
N [ > THRE 711 [
L _ EINIERS N _
P . 3AY3IA0 TYNNVI 41 00€ e m oo -
— WNWINIA 002

sisaseul o isuiebe Aem Aue ul pesn eq o) Aey) sie
Jayueu "papwr] saIBojouyos | 0dxX T WO JUSSUOD USHUAM INCYIM 80U Ul 10 Wed ul pejesjunuiwed 1o peldod 8q o) jou aie Asy] ‘Isenbal uodn
o|geLLNa) 18 PUE [BIUSPYUCO SE pelesl) g o) e1e Aey| "penwi seibojouyos] odx3 ¢ WbuAdeD ese Juswnoop ; Buimelp siyl Jo Sjusjued ey |

HIONITWWOJ L ANV H3A0 W' NVHL SS313d OL SSANLY 1Y
L'0F30V1d 030 ¢

<0+ 30V1d03a L SIONVHII0L

S0+ 30V1d O3A ON  a314103dSNN

NOILO3rodd
JTONY pIE

J7vOS 1ON Od

WW NI SNOISNIWIT

Be






















€ 40 | ONL33HS e “mmzohm:o_ - Q31V13d 1¥3) snuvis onmvaa | gun [ nag
0L9-LYVE-NWY L T X08 LP NI NIW R ICE apdr gpdr ovd ‘TBAONdAY
it 0 — ZV/S/0L | /WY | BO/L/TT [1002/90/€0 31va | OVd | ayHO
£66Y 98ES 6IG7 | NMVYO N Q0N
SIN .,/ ©O oG paywi] sa1Bojouyoay odx3 s e
S¥IHIO =
NIW (OMV #T1) zWWS'Z XYW (OMV 8) zWWO'8 "YOLOVLNOD ¥Od IZIS IUIM Ag HOLIMS JAIY¥Y¥IN0 — ' Do
XVW (OMV +1) zWWS'Z AVIZY ANV STYNIWIIL 04 3ZIS TdIM — VNNV TYNOLLdO _ " mm
JBAPST-S8 i, m29
1IDOvHg aN3 T ¥l A1ddNS ¥3MOd YIWIOISNVEL | | wm m NIVLVA / TYNOIS
HOLIMS ¥OL1D313S 39VLION T €1 AT Y04 A1ddNS ¥IMO | | = m o ARSI m%wm\_m_,wm
130V AN NOLLYAVAIS TIWNIWYIL ¥O4 NOLLILYYd 7 21 —=—— _ _J L ,G,N Lo J5V1T0A
35N VWOEY HIM QILLId A19WISSY ISN4 T L L S s
YIWIOISNVIL T 0T WTTT T ol 1= [T Tl [P0 o f= = 1-f=
ZH09/0S 2BAPT 110D mnu _ __:_g ‘_V <4 W___ 3 3l om_ 3 mln_u et X @ .w.waw\mm
PPNOST VS {SLOVLNOD “RENE B L PR | ]S el |k 1_9 LL Ao | [ T7 ey
THAIN T 6 Tre 1 bl | ASTT
738V ONLLVY T8 R = = -1} | IS
28A0ST VE /28ASZI V9 DAL B VSD 1N ONILVY N R
TMS Y04 YOLVNLOV HOLIMS QIZIANSSIVd/WAVTV T ¢ W J o0 e
JAOSZ VE /2BASZT VY :DII B VSD 1N :ONILLVY R —
7S MO YOLVNLOV XDOTHILNI ¥IMOd T 9 T 11 |1 39ww¥0 A0 AO__1370IA
D019 TYNIWYIL HLAV3 1 5 M%Na_\m_ DD poma >ﬁ— ASTT NMOYE
030 T1dIUL MO0TE TYNIWYAL € QAZINNSSTdd =l L S5a _ _ T
WV VNINEAL T £ IOUNAINIW Woyy O ¥IMOd S0 e
2RALT NOWING b (50 06) 6164 2m- - — o — - L_”Ev . BN a3d ACT  AGTT A39D
:ZH09/0§ 110D J— g
TVNOIS HOLIMS ¥3IMOd NS = NSOTIONT QIZIANSSIAd —
uucmmw vv _.._. uuw\ﬁ/%mm\wﬁw Mwu uowg%zﬁ)_mzo& 85l oL.inoviva /vNoIs |ﬂ|
o WNWINIW (15d 0€) Bueg 7
0SS > 1 2BAOVPAOF 1OV wNoIls El |||||||||||| =% | _
200¥ > L JBAO69/NOF TOV QIZIINSSIU/ WAV TV S e @ @ o
o)
2BAOOE VZT :3SN WHINID
2eA08Y dHE 1ISVHA €
VS ANV N
710D TNOD ¥OLOVINOD T ¢
ONISNOH WNINIWNTY J00YdNOISOTdXI / P X3 T _
NOLLI¥DSIA  ALD WLl
(saigT) BAL°9 LHOIIM €
(D0S5+ 01 Do0T- GWEL) DoS6L YO Do 08L X9dI T2V A1 X3 1SNA 1Z ANOZ
(D055+ 01 D507~ WEL) S1 YO (Do 0b+ OL Do 0Z- QWEL) 91 DI P X3 DII dNOYD SV T INOZ
8000°£0¥IS X3D3I
(D055+ 01 Do0T- GWEL) Do56L YO Do 08L X9dI T2V A X3 1SNA 17 ANOZ
(D055+ 01 D607~ qWEL) 51 ¥0 (Do OF+ OL Do0Z- QWEL) 9L DII P X3 DII dNOYD SVO T INOZ .
a9z Il @ 6TTTIXILVZO VIS @
6RL'PVWIN 984 '3 dNOYUD T AIQ II SSVID
JDNVITAWOD TN ‘a8 D ‘9 dNO¥D T AIQ I SSV1D 1 N\ X @
'SNOLLYIOT SNOQ¥VZVH ONIMOTIOZ IHL NI 3SN Y04 I1GVLINS SI LINN IDVAYILNI IDINDINIW SIHL T 2 . n - i T
"SNOLLVTIVLSNI NOLLYDOT (QIHISSYID) SNOQIVZVH 00§ JTDLLYV DAN B XILV R @\ N : - : s \
'231 40 SINIWIVINDIY T1GVOIddy IHL TI41N4 OL AINSISIA IV SLONAOUd J00UINOISOTdXI OdXI °1 ﬁ 4 ‘ @ @ @ @ 9
S3I0ON

siseselul Ino 1suiebe Kem Aue ul pesn eq 0) eyl e1e
Joyueu 'paywur selBojcuLos | 0dxXT WO JUSSUCD USHLM INCUIAM 8]0UM Ul 1 Led Ul pe)esiunuiwod 10 peidos aq o) jou aie Aey| ‘1senbsl uadn
S|qEWNIal B12 PUE |ERUSPYUCO SE peleel) 84 C) ele Aay ) “peuwl] seibojouyos | odx3 ¢ WBuAdeD ale Juewinoop / Buimelp siy) Jo Susiucd ey |

HIONITWWO0 L ANV H3IAC WWH'Q NYHL §S371 39 OL SSINLYTY
L'0F 30V1d 030¢

<0+ 30V1d 030 | SIONVHIT0L

G0+ 30V1d D30 ON  a314ID3dSNN

37vOS LON Od

W NI SNGISNIWIA

NOILOZrodd
3TONV pIg

Be




€ 20 T ON133HS & “mmzohm:o_ RGP Q31V13d 1Y3D) :snivis ONImvNa QN | nwva
- - g5 Pdr JIN ovd ‘@3A0YdIY
i _<<m2%7aﬂmo m X089 1P NINIW — HSINI 7175700 | 807472z | £0/8/ 1 [100e/50/€0 1va| 0Vd | axHo
£66% 616Y BT NMY YO ON "QON
WOQONIM A3LINA WNINIWNTY
W._.Z IVOS HY0 ZIX A3HENS UOH_E_I— mo_mo_ozf—u..vm..—- oaxm NIMNILYA 9 b ¢ l 3NSSI 0Vd | Qcdv¥
_
1dN .2/ SIRINT TNGVD T —_ | L.¥]z01
LdN . b/€ AYINT T18VD ~
1%
@
@ =
2 19
e L=
j &
l.z/1 11 8¢ j — 9k ONT HLAVI
_ dldN L8/T
7 \ YOLVNLOV WAV B
1.y i I
I
1}
n N
(= N 3 |®
= — — B — J — — R [
L W - | ®
" 7 A = |z
2 2 |3
1 = o)
" x
|_ /I 4LdN .8/T N _n T
YOLVNLOV ¥IMOd
[.8/€]1 0OTW 3ZIS 1709 I

[.ot/11 91 0L1

VI .z/1]1 €19 S1071S
— (99dI) W3S ¥ VWaN
/
1dN . #/€ AYINT T19VD ~_ , "
/,\ | —
LdN . Z/T SAMYINT T19VD T —— @T L@’ 1 | ©
S , > i
/,// O =
ge oL -— B
| |
SYOLVNLOV pa (T11. , o)
OL @3LLId SYoLdvay — ! ! * =
41dN .8/T OL (4NN ZE-0T) SKW _—
[.¥] zoT1
(AINO ¥oLvNLOV) [.2/T 1] 8¢ = [9l/6slzer =
% HLIONITWWO0 L ANV ¥3A0 Wy NVHL SS371 39 OL SSANLY 1L
sisesejul no jsuiebe Aem Aue ul pesn sq o) Asy) ele it o o m-J(Ow .FOZ OQ

Jeyyeu 'payw seIBojoUYos | 0dXT WY JUSSUCD USHUA INCUIM S|y Ul 10 Wed Ul p8jesiunuiucs 1o paidos aq ) lou aie sy ‘1senbal uadn
S|gELINIe) 81 PUB [ENUSPYUCO SE Peleell 8q 0) ale Aey | “penwi seibojouyos | odx3 ¢ bukdoD el Jusnoop / Buimelp siyl Jo SIusiuco ey |

20+ 30¥1d 030 |

SIONVHII0L
G0+ 30V1d 030 ON  a314I03dSNN

W NI SNOISNIWIa

NOILO3royd
FTONY pIg




€ 40 £  ONL33HS & ”mm_zohm:o_ . 031V13Y 1d3) :snivLs ONIMYNA | gun |
- - g5 gPdr gPdr ovd ‘J3A0HddY
019 —<<.om7_o—“u,<<mo o_u:u X089 1P NI NIW - HSINIZI™Z175701 | WA/ | B0/L/TZ | 70750750 =31va| 0Vd [ avHo
£66% 98ES 6lSY NMY YO ‘ON "aon
SIN_ O e PRI salbojouyoa] odx3 ) O 7 _ nssi] 0Vd | Qadv
o == ~ : ONOT ST X 8N
‘ : 7 . 3@ TIM SANLS ONIXI4 3HL (q)
/ _ |
/ w \
7 ,_ (m/ w.L , , ONOT 0T X 9N
B L \ | 39 TUIM AN1s H1Yv3 3HL (e)
s S e BR TR s e T B e (e O e U EE e few e T e see _ \
ﬁ | \ y 'AL7 SIIDOTONHDIL
| ¥ / _ OdX3 A9 Q3LLI4 NIHM
) \ |
7 - = — = - 7/ \
| ! AN /7 :310N
“ " _ I\ !
\ /_
| o N )
, L | o\ (B)3LON 335
| _ | | '371GVDITddY TYIHM
I 4 _ | | anis H1¥va Q3gam
| | N\
“ _ , _
L | | \|  (a)3LoN 33s
I | | N NIW NI [.8/€0] 010
I B | B B - B o | F10H ONIINNOW LINS OL
w | i - [.91/50] 80 XYW
PN _ ! : S3DV1d ¢ NI SONIXIS
= | | |
I | | |
| | | |
I ; | | _
| | | |
| | | |
[ I =B * I
I | L | | I
| Ty ! _ A
¥ S e ] ﬁ N\
4 _ m S3dId ANV SNOILDINNOD
| | | DILYWN3Nd
| S N v v ‘S378vD ‘SANV1D
/ , ) W ] ¥04 IDVdS MOTV
- ,XAUJ |
[ t t \\
t. J L = [.9] zsT = lot/6e 1lov

sisaselul ano isuiebe Aem Aue u) pesn eq o) Aay) sie

Jeyueu 'peywi seifojouyos | odxJ WO JUSSUCD USHUA INCLIAM 8|aUMm U 10 ped Ul peleoiunwiwoed 10 peides eq o) lou ele ey ‘1senbal uodn
e|geWNS) 8l PUE [ENUSPYUCO SE peleall 8q o) el A8yl ‘penwi] seibojouyoe ] odx3 ¢ Wbukde) eie Juswnoop ; Buimelp Siy) JO sJusIuco 8y |

HIONITWWO0 L ANV HIAC WWH'Q NVHL SS37139 OL SSIANLY Y
L0+ 30¥1d 030 ¢

<0¥30V1d 030} SIONVHII0L

S0+ 30V1d O3A GN  A3idI03dSNN

JTVOS 1ON Od

W NI SNOISNIWIA

NOILO3rodd
3TONY PIE




40 ‘CN 133HS 'SNLVLS ONIMYNHA
¢ _. “mmzohm:o_ ‘ON gOr Q31V13Y 143D WQ) | Nia¥a
910-00WI-WDY J0I943A0 'YW ILYWNING 03LVHId0 AT o e E
HSINIS poe
OL/E/E LO/L/T | LO/9/62 | T0OZILID 31va| OVd | axHo
‘ON ONIMYHJ 31LIL — )
NOGSNDIOS N m Q £l BLEY LIEYT NMY YO ‘ON "Qon
1] s woonni aalnn gl salbojouyosa] odx3 RN 3 z : —oo | OVd | adav
NMOHS SY %I078 JADWIY ONY AQDS YIONITAD H1IM 318v1 335
WWS 1§ D1 YOLVNLIY zu_%:mlh HSN14 01 ODY NILHOHS lh
700 €0l @
%1078 3A0WIY —,
* ]
i
[
I
£
(1) ZE-0L# FSW |
1¥0d NOILDINND] JILYHN3ING
1 YIHSYM TYHYOIND) | BOL
UMOYS S€ PIJIPPK UMDYS S€ P3IJIPOK I 01 X 3408 SI# YIONITAD NId INIW | £0L
€ = 7 UWIp 'P3NJIPOR B = Z UUIP ‘PIJIPDH L=7 UWip paypoN | | NO1ING HSNd 13538 | 901
d¥I ON3 —
MY — "NId YOLJ¥OY A3X 0J (Z0L N3LI DN .0. 113 30175 HIJIMS OLNI (Z N3LH NId HO1J¥OY AN MIWDS 7 ! YIVJS NDIAN| 501
JNSIHGY —. \ UMOUS S paLJIpOK UNDUS 5B PIIPON | | YDLVYNLDY HILIMS 031VHIJO ATN | ¥01
DNINAS —. v\ ; "DNIMYYD NIV NINMOHS HIDNJT D1 JWVYJ 1N) O1 M¥S O3HI00L AN Y 35N € | NOILD3S 91 X I'9L@ DNIID | E01
9 ; / . 1 NOLLD3S 9L X I'EG DN D | zot
A % Q.W% OLYNIOY HILIMS i S5 Z¥ M3YIS 135 L1IHDOSEXEW | 1ol
¢ J
L 031¥83d0 A3% 40 HI134S ! DMSNDH QNI HOLVRLY | €
L Y. WYHDYID | NId YOIVNIIY A |
ATBWISSY 30 HILIAS 2 Jaxq ! AODENOIYRLIVY [ 1
-3 NYYIvI (30ISNI DNIYGS} 3OS HOLIMS — — JY3SNI S5¥49 61~ 1IHD- WY BEZ-VIND- Y 91 UIHT-HOY 4p voydursag | waul
TMYd wwg o / — TMYd sax0q |p pue Xp sax0g ¥p
= oNRygs wug
"NMOHS SY ATENISSY 31319W0D 0 JAISIHOY 3LV TAEIYONYAD 35N
'DNI¥JS 3HL DLNIONY 310H 3H1 HDONDYHL TMYd 3H] 1Y3SNI
"HIDN3T DL TMYd ONY DNIYAS 10D 'd¥) JILSY1d 3HL HONOYH] 30 Z& ¥ HONNJ f
5). WYHDYIO DL JINIYISIY HIM 9
T JI0HAIM Y. NDILISDd
"IHISNI S5YYHE OUYISI0  1MYd ONY DNIYJS d33  LH3SNI S5V
VIO IDLTHS ONY (ININOJWO) JI1S¥1d 030TN0W IINYHO 3H1E TMYd 'DNIIS JAOWIY 0L .Y.
& [ H_ NOLLISOJ 1Y 3WYY4 HO1YNLDY HDLIMS N3JO LND O1 SH3LIND 30IS TIVKS 35N
8. Wevg "HIHSYM JILSYId ONY DNIY ONINIVL3Y HI1IMS O3 THNNY Q¥YISI0 ONY JAONIY
Y. WYHDYIO 335 (401 W3LK 940-0Z00-MS3 HOLYNIIY HILIMS O31VY3d0 A3Y T
"HION310DY 340 1ND GYYISI0 2. NOISN3WID O1 0DY 1nD
NOLLISOd DNILLR) — ‘d¥) JIIS¥1d d33X ‘00 30 ON3 WOYH d¥ ] DILSY 1d JADN3IY
(90} WLl BZ0-0Z00-MSINDLING HSNY I
8. KYHDVIO NI 'NMOHS NOLLISOd NI TMYd 1N 5
SNDLLINYISNI ATgWISSY
Y HLONTTWWO0L ANV HIAO W0 NVHL $$3139 OL SSANLY 14
Jayyeu 'papwr] saIBojouyos | 0dx g WOy JUSSUCO USHUA INCUNM 8|0y ul Jo Jed Ul pejesjunwiwed Jo paidoo 8q o) jou sie sy 1senbas uodn E ow mOM._n_ o3ac . M|_<Om FOZ OD NOILO3roNd
S|qeLN}al 81e PUE [ENUSPYUCD SE pajeal) 8q o) ale Asy] ‘penwi saifojouyos ) odx 3 ) WBuAda) ale uswnoop ; Buimelp siy) Jo sjusjuod sy €07 30v1d 030 L SIONVHIIOL FTONY pPIE

G0+ 30V1d 030 ON

a31d4103dSNN

Ww NI SNOISNIWIA




Z 40 T ONL33HS e HN_m_s_o&m:o_ R Q31V13Y 143D ‘snivis ONIMYNA | gy | via
9L0-00WD-WDY _H__H__H_ R gPdr JTW Dvd Ovd ‘J3A0¥ddY
o ONIMYNG J0IYYIAD NVH ILVRNING 03LVYId0 AN HSINIZI™01 7676 | £079702 [100280°€0[€00L/90/L8 31va | OVd | axHO
4 WOQONIX A3LINN m Q EL6Y HEY ZE8E NMY YO ‘ON "QON
Ll 3OS HY0 1 A3HHNS pajiwlT salbojouydss] odx3y WVINILYA 0l ! 3 | =nssr| 0Vd [ Odav
‘NOILVY3d0 1134400
Y04 NIW NIHLIM TIVY NIO NO Y01JVINDD 40 NOILISOd 1SNray "AY¥SS3IIIN I 9
"YIHSYM/LNNXMIOT ONISN NIW JAISNI WDY AT8WISSY ¥OLV¥NLIV %I0T 'S
AW ONY Dd 308NdINIW ‘NOI1]3410 3IS30 3HL NI A3NDITY SI LNGNI JILVWNING TILNN INNIINGD
N33M138 NOILDINNDD T¥IIdAL Q35S INANO?
LSNM SIYIHSYM TVWHDINDD TLNN NIW OLNI AT8W3ISSY ¥Y0LVNLOV M3YIS ¢
uo_ﬂﬁ\ﬁﬁ%ﬁﬂ / - 2 WNWIX YW (43/491L°E) WNS - SONILLIS JILVIWNING
1 = ONINILHDIL NIHM AT8W3SSY 401VNLIV LY0ddNS ¢
: J 3S007 Q317ddNS Y3A0D 1SN 1 TYNIWON 2
] SNOILINYLSNI ONIINNOW
[.S0] €1 [ZE]LB 4
[LT]ES
/ - H
b :
= |
= Lol
™
NOILDINND) ; \ |
HoLms Wavy., [N E IDYNAINIW / \ /
B o g3A0] 1SNQ \ / p YIHSYM/LANYIOT
N =it / /
| m AINIADWIY DL | /
| R [.02] 28 Hﬁ, /
NOILJ3INNDD I -
HILIMS .43MOd. \ \
| ,
(1d1 Z€-0L# | S \
140d LNdNI JILVIWNING /
\
8Z0-000Z-VOW
YIHSVM TVYWHDINDD
sisaselul anc 1suiebe Kem Kue u) pesn eq o) keyy eie I_uozmﬁ Wwg0 L ANY H3AGC WWH'g NVHL SS3139 OL SSANLY Y
Jsyueu 'pewr seibojouyos | odxg W JUSSUCO USHLAM INOUIM |0y Ul 1o Wed ul PejesIunwiweD 1o paldad eq o) Jou m._m..amf; 1senbal uodn me www”u_ﬂ WMM_NF SIONVETIOL Wl_<om ._.OZ OO IW@ ZO_._.Om:,O._m&
o|qeLwwN|e) ale PUE [ENUSPYUCD SE pajeal) 8q o) ale Aey | "penwi seibojouyos ] odx3 ¢ Wybukde) ale yuswnoop ; Buimelp siyl Jo sjusjuod ey | coT wof..._n_ DIAON  GIIDIJSNN ww N SNOISNIWIA FTONY pIg




£

40

l

ON L33HS

000-009Z-dWM

ON ONIMYHQ

SIN

37VOS

2
I
S

“mms_o._.mzo_

‘ON g0r

NIW 01 dW | 3ZIS 11X NOILD3NNDD 113410

HSINIZ

Q31V13Y 1Y3) :snivls ONwmvyHa

g5

8Pdr

JIN

Ovd

‘J3N0HddY

Wa)

NASQ

71/6/81

31LIL

WOJONIX a3LINN
HH0 21X A3dd9NS

pajwi] saibojouyos9a] odx3g

60/5/S!

£0/9/61

%007°80°20

21va

6196

L89Y

60CY

NMYHO

‘ON "GON

ovd

axHd

VINSLYI 9

S

¢

ANssl

ovd

Qdd¥

—3 HOLES @6.5 [1/4"]

Lo €l 22

Loz 2l 2o

o

530 [20 7/8"] OVERALL WIDTH

500 [19 11/16"] PLATE WIDTH
450 [17 3/4"]

320 [12 5/8"]

346 [13 5/8']

193 [7 5/8"]

251"

L

13/16"

96.5[3

-

_______;'TJ;L
|
e et e o

~

oy

=

—

|
|
P [ESEU SRS 1 SR S

Lol €]l v6

0

102 [4']

512"

Lovst Ll ey

>

41—

U\

Leczl o9

‘— SUB-MINIPURGE

2 OFF &30 [1 1/4"]
GLAND/CONDUIT HOLES —/

SR

ENCLOSURE SHOWN FOR
REFERENCE PURPOSES ONLY

DETAILS OF RECTANGULAR CUTOUT

SEE MINIPURGE MANUAL FOR
OR ALTERNATIVE HOLES.

MINIPURGE INTERFACE UNIT
MIU (ORDERED SEPARATELY)

—M86 x 20 LONG
EARTH STUD

{ON ENCLOSURE)

FOR WALL MOUNTING —,

3 OFF HOLES @7.5 [5/16"]
420 [16 9/16"]

\\

40 [1 9116"]

MiniPurge

L1 21 ¥8L

1HOI3H 31v1d [.8/2 21 002

ADAPTOR AND SEALS
280 [11"]

EARTH STUD —

ENCLOSURE SHOWN FOR
REFERENCE PURPOSES ONLY

ADAPTOR .

Ex d GLANDS/CONDUITS
SUPPLIED BY OTHERS

TOTAL WEIGHT = 11Kg (24 POUNDS)

sisase|ul Jno 1suiebe Aem Aue ul pesn eq o) Asy) sie
Jeyyeu 'peywir saIBojouos | 0dxT WY JUSSUCD USILAM INCUIM S|y Ul 10 Wed Ul pejesiunwiued 1o peided aq o) jou ale Asy| ‘1senbsl uadn
S|gEWNB) S1E PUE [2NUSPYUCD SE palell 8q o) ale Aoy peiwi seibojouyoe | odx3 ¢ WBuAdeD ese Juswnoop / Bupmelp siyl Jo sjusiuco ey |

SIAONVHTIOL

HLONITWWO0 L ANY H3AQ W0 NVHL SS371 39 OL SSANLYTY
L'0F 30V1d 030 ¢
¢0+30V1d 030 |
G0F 30V71d 030 OGN 03I4103dSNN

37VOS LON Od

W NI SNOISNIWIa

BDe

NOILOZrodd
FTONY pig




The contents of this drawing /document are Copyright © Expo Technologies Limited. They are to be treated as confidential and are retumable
upon request. They are not to be copied or communicated in part or in whole without written consent from Expo Technologies Limited, neither

are they to be used in any way against our interests.

1 DEC PLACE +0.2
2 DEC PLACE +0.1

UNSPECIFIED NO DEC PLACE 0.5
FLATNESS TO BE LESS THAN 0.4mm OVER ANY 100mm LENGTH

TOLERANCES

DIMENSIONS IN mm

DO NOT SCALE

3rd ANGLE
PROJECTION

ASSEMBLY INSTRUCTIONS

. Prepare holes and cutouts in the enclosure. The Gasket
{Iltem 6) may be used as a template.

. Lightly lubricate the 'O’ ring grooves in the SWITCH
ACTUATORS using the grease specified in note 8. Fit 10
mm 'O’ rings (item 4). Screw M15 adapters {item 1) over
the 'O’ rings.

. Fit grub screws {item 7) so that the MIU can be clamped to
the top of the enclosure.

. Into each MINIPURGE OUTPUT PORT fit male 1/8"
adapter {item 2). Lightly lubricate the 'O' ring grooves with
the grease specified in note 8 and carefully fit 7.6mm 'O’
ring {item 3).

. Fit the MIU to the M8 studs on the mounting plate {item 5)
using items 16 and 18.

. Remove the existing screws from the back of the
MiniPurge. Discard the black rubber washers.

. Lay the assembly on a flat surface. Position the MiniPurge
on the mounting plate and slide it to the left so that the

male adapters feed into the female adapters onthe MIU. ~ ~— SWITCH ACTUATORS

There will be some resistance caused by the 'O’ rings.

When the M6 holes in the back of the MiniPurge line up
with the 4 holes in the mounting plate fix the MiniPurge in
place with the screws removed in (6) above and items 12,
13 and 15.

. Connect the MIU EARTH POINT to the M6 stud on the

mounting plate using item 19 {earth lead) with Items 12, 13
and 40 (M6 nuts and washers).

Remove the protective film from the adhesive layer on the
gasket {item 6). Making sure that the holes in the gasket
are aligned with the holes in the enclosure press the
gasket, adhesive side down, onto the enclosure surface.

Place complete assembly in position feeding grub screws
and fittings through the enclosure. Fix using items 8, 9 and
10 {M5 nuts and washers) for the MIU and items 12,13 and
15 {M6 x 20 pan hd screws + washers) for the MiniPurge.
Fit cable glands {not supplied).

Fit earth lead {Item 17) between the M6 Stud on the
mounting plate {Item 5) and the M6 stud on the enclosure
using M6 locknuts and washers {ltems 12, 13 and 40).

\ 33 3

\
\_ Exd CABLE GLANDS
SUPPLIED BY OTHERS

NOTES
. MiniPurge and MIU must be ordered separately.

. MiniPurge must be either 1XLC/ss/PO or 1XCF/ss/PO.

. MIU must be dA Type AMU-9AA1-510 or AMU-9AA1-511
with additional holes E and F.

. Cable glands into MIU must be Ex d and suitable for

hazardous location and cable.

| I

383 STURHINAIN 53 8 B I

. Allow enough space within the enclosure for cable glands

and pneumatic pipework.

. Manual override option is not possible with this kit.
. Earth cable to be at least 4mm 2 CSA (AWG 11).

8. Vacuum grease or silicon grease must be used. The

recommended grease is Dow Corning MS4.

NTS
KMP-2600-000
2 oF

DRAWING No.
SHEET No.

i
Q
S

SURREY KT7 ORH
UNITED KINGDOM

ted

DIRECT CONNECTION KIT SIZE 1MP TO MIU

imi

|CUSTOMER:

Expo Technologies L

TITLE

JOB No:

MATERIAL

5619
SB

02.08.2004 | 19/6/07 | 15/5/09 [ 18/9/12 |

4687
JPdB

MLC

4309
DRWN | (DM [DRAWING STATUS. NON CERTIFIED

DRAWN
PAQ

MOD. No:
APPROVED:

CHKD | pAQ [DATE:

APPD | PAD ISSUE:




The contents of this drawing / document are Copyiight © Expo Technologies Limited. They are to be treated as confidential and are retumable
upon request. They are not to be copied or communicated in part or in whole without written consent from Expo Technologies Limited, neither

are they to be used in any way against our interests

NTS

DRAWING No.

KMP-2600-000

OF

3

SHEET No.

HFX-E715-000

ADAPTOR FEMALE/FEMALE M15(F) TO 12 MM BORE

i
Q
pSia

1 DEC PLACE +0.2
2 DEC PLACE +0.1

NO DEC PLACE +0.5
FLATNESS TO BE LESS THAN 0.4mm OVER ANY 100mm LENGTH

UNSPECIFIED
TOLERANCES

DIMENSIONS IN mm

DO NOT SCALE

3rd ANGLE
PROJECTION

2 HFY-ZZA0-000 ADAPTOR 1/8" TO 12 MM OD TUBE

3 MSE-RO07-6R0 SEALO RING ID 7.6, 0D 12.4

4 MSE-R010-0R1 O RING NITRILE 70, SIZE 10 ID X 1.3 CROSS SECT
5 MPA-5000-054 Plate MIU mounting

6 MGA-R000-034 GASKET TOP MOUNT MINIPURGE + MIU

7 FGM-0503-0ES SCREW GRUB M5 X 30 SKT CUP PT A2 STAINLESS
8 FNM-05F0-00S NUT M5 FULL A2 STAINLESS

9 FWM-05PA-00S WASHER M5 PLAIN FORM A A2 STAINLESS

10 FWM-0550-00S WASHER M5 SGL COIL SPRING A2 STAINLESS

12 FWM-0650-00S WASHER M6 SGL COIL SPRING A2 STAINLESS

13 $0019/027 WASHER M6, SEALOC

15 FBM-0602-0GS SCREW M6 X 20 PAN HD SLT A2 STAINLESS

16 FNM-08N0-005 NUT M8 NYLOC A2 STAINLESS

17 AGE-CAL0-032 ASSY, EARTH LEAD 60MM LONG M6 RINGS

18 FWM-08PA-00S WASHER M8 FORM A A2 STAINLESS

19 AGE-CAL0-033 ASSY, EARTH LEAD 160MM LONG M6 RINGS

20 XBR-7TD0-007 DRAWING MIU MOUNTING KIT

22 KMP-2600-000P KIT ASSEMBLY PARTSLIST, PRINT OFF FROM ETSS
30 MLA-Z000-001 LABEL MIU MOUNT PLATE (INSTRUCTIONS)

40 FNM-06T0-00S NUT M6.(LOCKNUT) A2 STAINLESS

I
el 2
5l =
FE| ©
€S|
2| a
3|
= w
E’l‘
Sl w;m
-"_5
(7)) ¥%
(]
25
O ==
ClRel
AR
c| Z
- =
o
8\.}
R
o
2l .
mezo
- |
wiE |3
I— o |
2
I
< z
=2 (™
™~
o ||
— a
Olol|2|n
O[S
o |o
SR
0| 3lulZ|=
#5%=
— o
w
- L)
< =z
BHEEEIE
bl S P
-~ -
L3 1]
£
|5
a
5| |28
L'u‘zuog
W |
ARHEFE
on%o
o || oo
< | =<|
o |laoa | Z
alalz
5 |%(8
<(ODQ:











































FFEEUM

Tt i

Expo Technologies Ltd
Unit 2, The Summit, Hanworth Road
Sunbury on Thames TW16 5DB UK

AT #888 Expo Technologies Ltd Fr4EEERY ™ MiniP
urge FMEEIT MIUM ) MEFHRTY - FFEEONTESE
b

BRI - 2004/108/EG

RERERIES - 2006/95/EC
MiniPurge /THEIEETC MIU/M BIHBEEGERIST (BENRE) TEA > RN ERERES -
BEIEZETFE EN 61010-1:2010

BR %% 97/23/BC
MRIEARIESHE 9 RHE » MiniPurge /MEIETT MIU/A B ER SRS —E © 4 > MiniPurge /i B
7t MIU/ MRSREEABEREERE (G R MEA > BB SRR HEES -

ATEX #5% - 94/9/EC
MiniPurge /MEIEEIC MIUM BIESETTTE ATEX 5% » I HAESTF ©
EN 60079-0 : 2012 + A11:2013 EN 60079-1 : 2014 EN 60079-31 : 2014

FR#% EC Type-Examination Certificate SIRA 02ATEX1129X HYFRIE » MiniPuree /i EEE T MIU/ #EiE
T SIRA Certification Service ~ Rake Lane ~ Eccleston ~ Chester CH4 9IN FIZTEERHYEIES » BT -
EN 60079-0:2006 EN 60079-1:2004 EN 61241-0:2006 EN 61241-1:2004

MiniPurge 1MAEETE MIUM EilidsrsE - BEZiEse €& 12 6D

MiniPurge FMAIEETC MIUMA Z 4R EARIEEREEHMESE 0518 9% SIRA Certification Service Fa&Af » BUfE
B PR AT SIRA 99 ATEX MO043 Firidis -

%5 K
John Paul de Beer HHF : 2014 &£ 2 H 11 H
g MR ZE 2% SC009

S:\Files\QA\CERTS\C-OF-C\Minipurge Interface Units Ex d CE issue 5 SC009.do

JD Auspice Co,, Ltd. TEL:886-2-2595-9780 FAX: 886-2-2595-9412 service@jdauspice.com www.jdauspice.com




